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SA X AE A
M A2E NS DX T4
el SETBRYX ERUBC CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=30dHzZREE = 371,394,400& *4 . 5% 16,713
OodteEsgZ2 371,394,400& *3. 1% 11,514
OnsEsEsg= 371,394 ,400& *1.5% 5,571
(OFali=h=-N=1 371,394, 400& *2.945% 10,938
OAEE= 10,937,560& *3.275% 359
201 LEt29Y| 565, 146 432,885 132,261
01 AFR2t2ldl 32,361 5,248 27,113
oM 5,000& x50 x12& 3,000
o8z de=z 52,000& 2t x12& 1,248
O=2RM4& UEZ 27,113
o=J & JI2J] F¢ 10,000& 1004 1,000
02 3294l 532,785 427,637 105, 148
o2 1,275
O&II 1,770& x20S 128 425
oes 340& 2,500 850
OYEL A2 9,500,000& x12& 114,000
ONEIN L HIRIB 1,600,000& «12& 19,200
OMHI =1 =5 150& *8,000kg* 12& 14,400
OSAZEMYI £=H £===2
150& *3,5002| Ef x12& 6,300
oHed daz bl 300, 000& *5JH 2~ 1,500
OuWFIl =l 200,000& x4 & 800
OCCTV & LEDM & S Xl22|b]
600,000& *12& 7,200
OF=&HA =2 150,000& *13| x12& 1,800
OZUANE=E 29 =& 52,404
OtedE2e =2 22,000 x12& 264
Ol ZEIIE =3 1,000,000& x12& 12,000
OSRIIIXIAN &5 7,500,000& x4 3] 30,000
OZAANAEY T2 RAEES
50,000& 100 = 12& 6,000
OUZEH LjAAY T2 FAExS
310,000& = 12& 3,720
ORHEIIELLY)] 42 20,000& x12& 240
(OPIFaT-PNEEy 30, 000& *3I A *23] 180
(@)=8=-K=1 5,990
OUAEE B8z 3,500,000& 13 3,500
OO0IExX EE= 80,000& =3CH 240
OXNsxt B8 550,000& =3CH 1,650
Os&8sl2 B8z 600, 000& *1CH 600
oNIIe= 240,918
O AT EH 2 9,500,000& x12& 114,000
Ol A I SH AL EH 126,918




FN 2ZXAMS A
MM A2E NS 2BX X4
Sl Y4BT ERUBL (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O Xt& = Xl 13,559
OFE=E=3=1 3,349,000 = 1CH 3,349
O4Ldgsat= 2,605,000 =2CH 5,210
Os&st= 3,500,000 = 1CH 3,500
OO0l EXt 500, 000 & »3CH 1,500
OBOAIAY EAF(179H4)
150,000 x 1700 A 123 30,600
OdsSLHAMEA ES= 300,000+12& 3,600
O2+=Hel =28 412,920& x33] 1,239
O+l /AF2e ==&
1,500,000& »12& 18,000
206 M= Hl 7,500 7,500 0
01 M= 4l 7,500 7,500 0
O+ 2823 7Y
300, 000& x5& *53] 7,500
401 A& HIZ 2018 903,241 0 903,241
01 A& HI 903,241 0 903,241
O2=Xeld dx &X 20,000,000& *x1& 20,000
O2+HMelZd 2cl2 WHIBA 323,000
O3ES 2 ™4 SA 60,000
O=STae oHe 10,209 m" %49, 000 500,241
HAH X OIME Dz 94,500 97,500 A 3,000
G ZMEHA EX 4,500 4,500 0
307 21201 A 4,500 4,500 0
04 QIZHHAIE XS 4,500 4,500 0
OGS EMAESAN & 4,500
SEUFE=N B 70,000 73,000 A 3,000
307 glz2tol & 70,000 70,000 0
04 QIZtHAIE X = 70,000 70,000 0
OLdYEUHE=SM = 70,000
M SXNE /S ANEE i = 20,000 20,000 0
201 L2l 20,000 20,000 0
03 &Ar2 I 20,000 20,000 0
ogaZHEE O 20,000
Z2EX ANEE 29 ¢ 1,199,463 1,078,827 120,636
A2 2d2e] 423,215 341,630 81,585
101 14l 85,455 74,740 10,715
04 JI12ZtHZ22EaE = 85,455 74,740 10,715
O=FH2Z 22| o2 17,091
oY 41,680 «1H »247L 10,295
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22X ALY &
URE XNeots 2N =4
getmaai AdE 22 2 22
SA - ZE-B(EA) - NRAY - B S il
OsgZ2? =¢ 41,6803 *150%*1H 66 L 4,127
OFxt=< 41,6803 1«52 2,168
O xt=< 41,680 *1H x122 501
oYU ESHEa el =2y 17,091
oY 41,680 x1H »247L 10,295
OsgZ2fs+E 41,6803 *150%+1H 66 L 4,127
OF=xt=< 41,6803 «1 x52 2,168
OAR=< 41,6803 1«12 501
O=&TAl2 22| FY 17,091
oerEy 41,6803 1 247 10,295
OsgIZ2f=E 41,6803 *150%*1H x66 L 4,127
O=Fx=< 41,6803 «1&H 52 2,168
OAR =< 41,6803 1«12 501
Odlol Mg atz 2el oY 17,091
ooy 41,6803 1 247 10,295
Oxgaefs% 41,6803 *150%* 1 x66 L 4,127
OFX==g 41,6803 «1H 52 2,168
Ogxt==g 41,6803 1 12 501
Ot ELAIataz 22| 2 17,091
ooy 41,6803 1 247 10,295
OsgZ2fs+E 41,6803 *150%*1H 66 L 4,127
OFxt=g 41,6803 1«52 2,168
O xt==g 41,6802 *1H x122 501
S 8,520 8,520
AtS 2tel I 6,000 6,000
OdAN22H 23572 300,000 1000 & +23] 6,000
=323l 2,520 2,520
OFH & &stze] =2 210,000 128 2,520
WL 86,155 90,535
01 MHZ 8l 86,155 90,535
M2 PROJECTEHZ & 8,800
OJIE SaZ2HH 550,000 »2H »8CH 8,800
OHSHEa T2 MHHIDT 2
550,000%2H 8 CH 8,800
OXHAIEtE 2 ZTZ2HHH D 22
500,000%2H 2 CH 2,000
O e e 7,000& 2004 1,400
Oodi&dz 2L (¥Z) 6,875
OfdetolE & 517,000& #2423 2,068
Ol 2tOlE I (250W) 44,0008 *100H 23] 880
O} 2tolE & (575W) 82,5003 30 x23] 495
OdEA0E 2lOIE #E 77,0002 «30H*23] 462
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FN 2ZXAMS A
M A2E NS DX T4
Chel: gexaadX AldE 29 2 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAEZE 210lE &#X 385,000 10123 770
OLCDEZREYH #Z 550,000& *2H »22] 2,200
OZEH Ot 2t & St} asaa 24
=3 51,680
ODLPEZZHEH BIE(HAH)
700,000& *23| «1 4 =16 CH 22,400
OLCDE=ZHMEH ST (HMAIZ)
500,000 «2H *11CH 11,000
OXIMHA M =2 900, 000& »23] 1,800
O3 Mot (2ga) 10,000& =1,0007H 10,000
OSPOT LITHT(200A12F J1&E)
45,0003 x24Il x6 3 6,480
ool MIa2 2HSE 6,600
OZIOMHA o =g 900,000& =23l 1,800
OLCDEZ XY #O 600,000 *4JH »2CH 4,800
307 glz2+ol & 19,000 7,000 12,000
05 RIZt2IE = 19,000 7,000 12,000
OXHAIZHE 2 &Ml &= 6,000,000& =13l 6,000
OFH& & 224 200,000& x53| 1,000
Odiz &l de 2l 1,000,000+12& 12,000
401 A& BIZ 201 8I 224,085 160,835 63,250
01 A& tl 224,085 160,835 63,250
O3XJ 2 WHEY 115,500& *357H 23| 8,085
Odlold Faa 46Ul (T 2/Ze4)
15,000,000& »2CH 13l 30,000
Os=4A 20 M22 8,000,000 1A 8,000
oY)l SFU 1,700& %9,500¢ »5& 80,750
OHOIM Ga2(HLIWA) 4,000,000 *23] 8,000
Ot =2l & A2F WA
500,000& »20CH 10,000
OFH 2 HLHHI| A4 HIHSH
1,500,000*2CH 3,000
OZEMSHE MAIAIE EHl =2l
1,000,000& 10& 10,000
O50 Safa JaFHdl =+l 200,000,000 10% 20,000
OClector2t FaEHl el 192,500,000 10% 19,250
O a2 TZREH L 220,000,000 10% 22,000
OMEA REA MdA HH &X 5,000
HO AL 22 466,571 384,776 81,795
101 14 Hl 350,196 287,226 62,970
04 JIZHHZ2XREE S 350,196 287,226 62,970
Oy % JIEE5E 24 AR 93,781
Oy 41,6803 5 x247 51,475




=

1K)
k-

22X
USES NS DN X4
SEHTDZI ANES 29 2 22
S BB (BA) - MRAY - BYS il
Osgz2*2=+8 41,6803 «150%+52 x66 L 20,632
OFx=¢ 41,6803 x5 H x52& 10,837
O xt==g 41,680 «5H x522 10,837
OJtm e clof 2 FY 17,091
oggy 41,6803 «1H x247 10,295
Osg22=+8 41,6803 x150%+* 12 »66 4,127
O=Fx=¢ 41,6803 «1H 522 2,168
Odxt=¢ 41,6802 «1H 12 501
OAHZH 28 AFY 55,966
(OXUE 3 45,5003 »3F »247L 33,716
Osg22+8 45,500 *150%*3 & 66 13,514
OFi=¢ 45,5002 «3H x52& 7,008
Odxt=¢ 45,5002 «3H x 122 1,638
OHAE 22| ARY 36,764
OoeEy 45,5003 »2H »247L 22,477
Oxg2f+E 45,500 *150%+2H «66 Y 9,009
OFX==g 45,500 «2H x522 4,732
Odxt=¢ 45,5003 «1H x12& 546
OEI A RY 55,966
oesy 45,5003 3% 247 33,716
Osg2*2+8 45,5003 «150%+32 x66 L 13,514
OFx=¢ 45,5003 «3H x52& 7,098
O xt=¢ 45,5003 3 12 1,638
O3EXY 29 A2 37,310
oggy 45,5003 2 247 22,477
Osgz22=+8 45,500 «150%+2H «66 L 9,009
OFxt=¢ 45,5003 2«52 4,732
OAR=< 45,5003 «2H 122 1,092
O=g% 22| d2FY 17,506
(OXUE 3 41,6803 «5H 60 12,504
Osg22=+8 41,6803 x150%*5& » 10 3,126
OFi=¢ 41,6803 x5 9 1,876
ozzolged A2y 7,004
(OFIE 3 41,6803 «2H 602 5,002
Osg22=+8 41,680 «150%+2H «10 1,251
O=F=x=¢ 41,680 x2F «9 751
OFZL2Z A 1R 41,6803 *150%+4H 100 25,008
OW=H(Z2X |LIZ) 198 +100,000& »23] 3,800
et 67,425
JNEETET 23,800
OHEHI 2HE=S 7 200,000& x135*62 15,600
OHME I A EH 150,000& =122 1,800
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FN 2ZXAMS A
X ZXH: al=2
(=R B

A=RE X&ol=e 223X =4
Sel: BTN AL 29 U 2 CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OOCIAZEH 2g9=5 7Y 400,000& x55 2,000
OgAAAE EI 2 2,000 & x4Z +50H *3H 2 1,200
OO0t 4+=g9& A248 XML 120,000& *x105 1,200
OZdl (A, XNAHI)LXZ 1,000,000 x23] 2,000
02 3524t 43,625 42,950 675
OEgI w2l 5,000, 000& *x2CH *23] 20,000
OE¥I RFU
1,750& *2 . 5km*6&] *1.54 *2CH *300L 23,625
206 M = Hl 5,000 5,000 0
01 24l 5,000 5,000 0
OOIEH %E o HEPY
500,000& *5& x23] 5,000
401 Al HI L £ 0HHI 35,950 20,000 15,950
01 A& HI 35,950 20,000 15,950
O0r+=g9& &X & EHA 20,000,000& =14 20,000
OHAMA HEtAH WA L E=3A 15,950
405 KHo&HFE S HI 8,000 10,000 A 2,000
01 JHAHE 2 Z 5 = H 8,000 10,000 A 2,000
ONEA 2AHEH 7 4,000, 0003 =2CH 8,000
22X SFoNA 309,677 352,421 N42, 744
101 @121l 157,717 127,288 30,429
04 JI2ZtH 22 XNEE X 157,717 127,288 30,429
(OFSPSESEcaNol Re- gl 113,000& x4 x152 x23| 13,560
oONx&Y o2 83,980 x5H x 19 7,979
OM=&g o2 41,6803 x4H x 10 *23] 3,335
oOstzd & o8 63,960
Oorgd 52,0003 »3H #2247 38,532
Oz 52,0003 *150%*3 % x66 15,444
OFXxE 52,0003 x3H 52 8,112
(@ ca=E= g =y 52,0003 x3H x 12 1,872
O3st&Al 2tgl o182 51,268
ool 41,6803 x3H #2247 30,885
Ose=22Y 41,680 *150%*3 2 66 12,379
OFxt==Y 41,6803 x3H 52 6,503
Od X< 41,6803 x3H 12 1,501
OE&8= 17,015
O=01H= 140, 123,000& *4.5% 6,306
OHZdESE 140, 123,000& *2.945% 4,127
OB 4,127 ,000& *3.275% 136
OMEE 140, 123,000*3. 1% 4,344
onsed 140,123,000& *1.5% 2,102
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Ab e
Ngotes 2&X =4
22X AIEES 28 & 2

MY . B (3H) - NEAY - BAS ofl &t o SSa HDE2
(ORTE=gs] 100,000& 6H 600
Bt AH| 51,200 81,553 A 30,353
AP 22| H] 39,800 39,800 0
O3sg&a A5 7Y
110,000 1501 A« 12& 19,800
OFA ¥ HATF 2 50,000& x15& *12& 9,000
oMy IIEsE>7Y 550& *20, 000 0H 11,000
S229H| 11,400 41,753 A 30,353
OSHEA AlAZH XU (15H4A)
200,000& =150 A 3,000
OAIRIE &L FHAE AAEEH RAHI
200, 000& *7JH 2 1,400
Od2I,0FI & A2 500,000& 4= 2,000
OE2FHAXN =2l & A2F A
2,500,000& *23] 5,000
206 T2 HI 52,760 61,580 ~8,820
01 & bl 52,760 61,580 N 8,820
O=s< Y 100,000& x5= + 103l 5,000
OE&H ¢ Hsz37Y 30,000& 2001 6,000
OANZEFY 16,000& x15 L x2E5 128 5,760
OstetxzdE2 =38 7Y
2,000 *x6,000=*33] 36,000
oIz2tol & 48,000 48,000 0
OI2t2E =2 48,000 48,000 0
OFA ¥ 2229 4,000,000& x12& 48,000
A2 AX2d9 102,171 0 102,171
cHA 23 29 102,171 0 102,171
101 @121l 19,269 0 19,269
04 JI2ZtH 22 XNEE % 19,269 0 19,269
oze ofY 17,091
ool 41,6803 x1H %247 10,295
Oxg=a2xg 41,6803 *150%*1H »66 4,127
OFx=g 41,6803 1% 52 2,168
Od X == 41,6803 x1H + 12 501
OE&8= 2,078
Oo=89dH3 17,091,000 x4 .5% 770
OH2LES 17,091, 000& *2.945% 504
O%EE 504,000& *3.275% 17
OMMES 17,091,000 *3. 1% 530
OnNsesd 17,091,000 *1.5% 257
(ORTE=gs] 100,000& *1H 100




FN 2ZXAMS A
MM A2E NS 2BX X4
&?: SsUeA SR X129 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 65,402 0 65,402
01 At 22l 2,400 0 2,400
OA2d HPSs7 P& 12,000 *10& %20 M 2,400
02 =24l 63,002 0 63,002
oHerEg RF7¢ 2,000& *200L* 150 60,000
OA&EH Sl 2,640 +1,137m’ 3,002
206 = Hl 17,500 0 17,500
01 T2l 17,500 0 17,500
oBAE A2RY 10,0002 *1,000% 10,000
gt ¥ 2E7Y 15,0008 *2Z * 1002 3,000
OYHE YH S247Y 20,0008 +75+154 2,100
OMESTHHE FUM L BI27Y
12,0003 »4Z +50L 2,400
= EI S E 22 20,000 0 20,000
HZEITSHE &8 20,000 0 20,000
401 AIEHI L 201 20,000 0 20,000
01 Al Hl 20,000 0 20,000
OWNDEAE & L 2o 20,000
22X =4 6,847,063 3,278,683 3,568,380
= 235,000
& 2,700,000
< 810,000
s 3,102,063
geEaZdi =4 2,096,240 1,507,460 588,780
= 1,000,000
< 300,000
[ia 796,240
201 £B-2d| 96,240 107,460 A 11,220
02 =24l 96,240 107,460 A 11,220
oOFIIetE & NHE =2
1,320,000 » 122 20 A& 31,680
oOLHI KX el 800, 000& »3CH 2,400
OsdIl |X&e & a8
250,000 84 A +12& 24,000
Os2I| HIEAN =25 120,000 *8IH 2 960
O A& EHl s Xl 37,200
O&A2UH HIIzde =84 ¢ WX
1,200,000& *109H £ 12,000
OdA2 dF HZWH 12,000 *2, 10000 2 25,200
401 AIEHI L 2 CHYI 2,000,000 1,400,000 600,000
= 1,000,000
< 300,000
[ia 700,000
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FN 2ZXAMS A
MM A2E NS 2BX X4
ool BBR E4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,995,000 1,390,000 605,000
ogazZzaAx =4 1,995,000
= 997,500
< 299,250
[ia 698,250
03 AlE2 2 THHI 5,000 10,000 A5,000
oggZaai =4 5,000
& 2,500
< 750
i 1,750
oot 2 AHMNE (LS ZHZX) 2,000,000 800,000 1,200,000
& 1,000,000
< 300,000
s 700,000
401 A& HIZ 2018 2,000,000 800,000 1,200,000
& 1,000,000
< 300,000
e 700,000
01 A& HI 1,995,000 790,000 1,205,000
ot LS HAHIMNY 1,995,000
& 997,500
< 299,250
s 698,250
03 Al 2 THHI 5,000 10,000 A5,000
goiot 22 S HAHMNE 5,000
& 2,500
< 750
[ia 1,750
getz22dX OFEE MESHAE SMY 1,400,000 400,000 1,000,000
& 700,000
= 210,000
e 490,000
401 Al HIZ 2018 1,400,000 400,000 1,000,000
& 700,000
< 210,000
fia 490,000
01 A& HI 1,400,000 400,000 1,000,000
O0EE MESHAE &#SE 1,400,000
= 700,000
< 210,000
[ia 490,000
SeZ2ZX JIeAIZE B (XHA) 410,823 321,223 89,600
206 = Hl 104,823 106,723 21,900
01 MZ 4l 104,823 106,723 A 1,900
OZ&xY & LBMIINH P 14,388




FN 2ZXAMS A
M A2E NS DX T4
Sl BBA X4 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIZES, BAES BZ % oF)2Y
50,000 28971 *1/23] 7,225
OXTEINE BT L A4FI| 7
1,000,000% 265 *1/23] 13,000
OXNsXEMHHI 228 &
750,000% x2Z *8IH A +1/23] 6,000
ogerxrd 2 5,000& x2000H x12& 12,000
OS+xYg ¢ 14,110

OELLLIPSOID LIGHT(400A12F DI &)

50,0003 51 83| 2,000

OSPOT LIGHT(200Al 2+ J1F)

45,0003 *24 1 x6 3 6,480

OSTROBE LIGHT(6IH & JIF)

150,000 *5JH 23] 1,500

OFO00T LIGHT(1,000AI2+ DI &)

15,000 »18JH »33l 810

OLOW HORIZONTAL LIIGHT(1,000AI2F J1&)

10,000 *96H 23] 1,920

(OEFFECT MACHINE 7,000& 2004 1,400
OXAIZ LEDHZE 2 110,000& 2504 27,500
OLLEBHIC 2dE dd2H 02 ¥ &

2 2 50,000& *200m 10,000
Oi=c 37 FY(UX, A0HAERH S) 300
OX&H 2 300

401 Al& I 28I 306,000 214,500 91,500
01 A& tl 306,000 214,500 91,500
O3 HAH 80,000
O X otz &8 HXIE Jl
2,000,000& * 1094 A& 20,000

OS2 =3 & U2 E= 30,000

ONSH 24 U X4 g4 A 30,000
O2s2HAE 80,000

ORO0l=0IHEHI S A 80,000
O EstAlL 100,000

Ok=Itlet 2H € &X

20,000,000& =44 A 80,000

OZ XU ==& 400, 000& *50= 20,000
QJIELAIA 46,000

OXNENSA NS WS A

5,000,000 *40H 2 20,000

OxRElel BA &d 2L B At

60,0002 *200m 12,000
OQEH/LEC S 2L SA
1,000,000 *40H A 4,000
Ottttel 2 & =2 Xtdtet WM S At
5,000,000 *20H 2 10,000




FN 2ZXAMS A
MM A2E NS 2BX X4
ool BBR E4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
getmaZd X M IS EIt 50,000 50,000 0
401 Al HIZ 201 Y] 50,000 50,000 0
01 A& HI 50,000 50,000 0
OYetZ 2 Ar=&ZHe It 50,000
getmaadl ZdE HE 89 420,000 200,000 220,000
401 Al HIZ 201 8] 420,000 200,000 220,000
01 A& HI 420,000 200,000 220,000
oOgaEa2ZX THHE HASA(2HE) 330,000
OMAETNISLTE(NLHE)SEA 60,000
O2AMANEZA EH 30,000
HBASEE LAY 470,000 0 470,000
= 235,000
s 235,000
401 AIEHI L 201 470,000 0 470,000
= 235,000
s 235,000
01 A& HI 470,000 0 470,000
O s Ee & ALY 470,000
= 235,000
s 235,000
o E=xH 762,883 1,560,301 AT97,418
& 300,000
< 5,000
s 457,883
gae dEx=xd 762,883 1,560,301 AT97,418
= 300,000
< 5,000
[ia 457,883
getZol &0telLiAlEd = d 603,000 1,400,000 A797,000
= 300,000
s 303,000
401 A& HI K 201 8] 603,000 1,400,000 A797,000
= 300,000
[ia 303,000
01 A& HI 590,000 1,397,000 A 807,000
ogeZofditelLhAle =4 590,000
& 300,000
s 290,000
03 A& S THHI 13,000 3,000 10,000
OgaZofditelLtAlE =4 13,000
HLAE=2 149,883 150,301 A418
101 @124l 50,033 37,331 12,702
04 JIZHHZ2Z2XNSE =+ 50,033 37,331 12,702




FN 2ZXAMS A
X oY E=xd
Sl 9B YEEIY CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Od=2una 02 30,818
ooy 83,9703 x1H +25U «12& 25,191
OssSsgsE 83,970 »1H x522 4,367
Ogxt==< 83,9703 «1H 152 1,260
OEZXna o2¢ 15,298
(@RI 3= 41,6803 «1H+25 128 12,504
ORsS5dsE 41,6803 «1 x52 2,168
OAR=< 41,6803 1 +152 626
o4l 2= 3,917
O=Rd=RE= 46,116,000& *4.5% 2,076
Ot = 46,116,000& x0.6% 277
CLEEE= 46,116,000& *1.5% 692
OHZ2BE= 46,116,000& *1.815% 838
OFIILEE= 838,000& *4.05% 34
201 Let24d]| 80,400 103,520 223,120
01 At 22l 62,300 82,300 220,000
OAFNEE Xt 28,200
oflYellE=2d &2 10,000, 000& 10,000
ORESNE ZA=Z 35,0003 *300Al 2t 10,500
OREsW &FFAEH 300,000& 128 3,600
Ol Z=&H A28 & 10,000, 000& 10,000
02 =24l 13,100 16,220 A 3,120
ORE=sN 2= 5,000,000& x13l 5,000
oOxx3d B&8=x 500,000& »1X 500
OFxZF2Y |74 1,900& =4,0002| & 7,600
03 &Ar2 I 5,000 5,000 0
ONLEESNEH QLEWS AN&SS
5,000,000& x13l 5,000
301 YU BN 9,450 9,450 0
09 HALAHIE& S 9,450 9,450 0
ogstty =gz &4
7,000 *30H x9A! x53] 9,450
405 RHoHF S HI 10,000 0 10,000
01 et ESFH S 10,000 0 10,000
ounsd FL(1¥) 10,000
REZY S8 ¥ FE2IHILAY 10,000 10,000 0
< 5,000
[ia 5,000
201 L2l 10,000 10,000 0
< 5,000
i 5,000
01 At 22l 8l 10,000 10,000 0




SA X AE A
HM: L= Y
Sl gEe YEEEY (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OIAFH Xt 10,000
[ 5,000
= 5,000
HE 2 FY| 141,716 143,976 N2,260
2B (22X AE A) 141,716 143,976 N2,260
HYF=XZ | 3,000 3,000 0
203 ¥R =&Y 3,000 3,000 0
04 ENSIHRF=AY| 3,000 3,000 0
ORNMEY LRF=&XH| 250,000& = 12& 3,000
2 8t2 A | 71,936 74,196 N 2,260
201 L2 A Y| 71,936 74,196 N 2,260
01 AR 22| bl 71,936 74,196 N2,260
OFRMEY JI=224| 29,712
os9+4Y 36,500
O=2Y| 50,0003 2% 251 25,100
Osed=dY 50,000 »2H x114L 11,400
O3l 7,000& x 15 x60%*4 4 x12E 3,024
oIl =t 50,0003 *27H 23| 2,700
o dl 66,780 66,780 0
202 04 b 66,780 66,780 0
01 2LHOHI 66,780 66,780 0
OJI=2gd R30I 200,000 »21H x12& 50,400
O=Us=&0H| 65,000& 21 x12& 16,380
MEES (X AIE AN) 802,500 52,500 750,000
HEXNES(2EZIAEA) 802,500 52,500 750,000
SStIo A0l LIAIE XA AIYE S| =4 E 802,500 52,500 750,000
311 Xt 20| XH&H &t 52,500 52,500 0
01T Al - 2 - 2XEMNLI S S0 KHAHE 52,500 52,500 0
OYSLHAOI2ILIAIE A A A= Ol Xt
Al &t 1,500,000, 000& *3.5% 52,500
601 Xt S A3 A& 750,000 0 750,000
01T Al - 2 - 2XENLISKL=SF24E 750,000 0 750,000
OGS IHA0I2ILIAIE ZHAIY RS 4HE
1,500,000, 000%50% 750,000




